
PATENT PRODUCT 
Grille Installation Instruction 

 

Part# F85434C&J&S Application For 2001-2003 Ford Ranger 4WD 

 

Page 1 of 1 

 

The instruction here is for your reference only. We strongly recommend the professional installer for best 
result. We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

Rev. 20210801 

 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

#1 Billet Grille 1 Stainless Steel #4 Flat Washers   8 1/4″ 

#2 Hex Bolts  4 1/4″-20× 3/4″ #5 Lock Washers 4 1/4″ 

#3 Nuts 4 1/4″-20 #6 2-HoleTabs 2  

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 Identify the grille & hardware with parts list. 

2 Remove the (2) hooks from the vehicle. 

3 Attach the extension brackets with the hardware provided. 

4 
Center the insert in the bumper opening. Now fasten the extension brackets to the factory (2) hook holes. Be sure all the 
fasteners are tight. 

5 Make sure the insert is centered and tighten the hardware. 

6 Installation completed. 

× 

 

√ 

 
× 

 

× 

 


